Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
					ural oment - I	Mara	thi - I	Econor	mics - I	Skills in	unication English		rathi oulsory)	Found Cour						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
1	0	EX-71001	/ AHIRE GAYATRI ASHOK ALKA		\$40		40		40	\$18	14		45	10	\$30		54	13		F
				Mara	athi - I	Econo	mics - I	Hist	tory	Skills in	unication English		rathi oulsory)	Foun						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
2	0	EX-71002	/ AMBAT SEJAL SANDESH SHAILA		\$40		40		40	\$17	16		41	\$17	37		56	13		F
				Comm	nerce - I	Hin	di - I	Hist	tory	Skills in	unication English	Hi (Comp	ndi pulsory)	Foun						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
3	0	EX-71003	/ AREKAR KSHITIJA MANGESH SUCHITA		\$40		\$40		\$40	\$18	32		\$45	\$16	\$30		68	15	4.53	D
				Hin	di - I	Econo	mics - I	Hist	tory	Skills in	unication English	Hi (Comp	ndi oulsory)	Found						
	_			0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
4	0	EX-71004	CHAUDHARI ANKUSH VISHNU SUNDAR		\$40		40		\$43	17	\$32		\$43	\$16	\$30		64	15	4.27	D
5	0	EX-71005	CHAUDHARI ROHIT DIPAK NISHA		\$60	_	\$40		42	\$16	32		\$40	\$17	\$30	81.50	76	15	5.07	С

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Comm	nerce - I	1	ural pment - I	Mara	athi - I	Skills in	unication n English - I	Mai (Comp	rathi oulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	1				
6	0	EX-71006	/ CHAUDHARI SANYUKTA NILESH DARSHANA		\$48		\$40		\$56	\$17	\$32		53	\$18	\$42		86	15	5.73	С
				Comm	nerce - I	Mara	athi - I	His	story	Skills in	unication n English	Mai (Comp	rathi oulsory)	Foun Coui						
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
7	0	EX-71007	DANDEKAR MANOJ BABU TULASHI		\$43		40		\$50	\$	\$40		\$50	\$16	\$51		78	15	5.20	С
8	0	EX-71008	/ DAWANE TAPSWITA PRABHAKAR RANJANA		\$51		\$51		\$40	17	\$36		\$42	\$14	\$39		80	15	5.33	С
				Comm	nerce - I	Mara	athi - I	His	story	Skills in	unication n English	Mai (Comp	rathi oulsory)	Foun Course	dation in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
9	0	EX-71009	/ DHANMEHER SNEHA RAJESH YOGITA		40		\$43		\$40	\$17	32		\$40	\$17	\$30		64	15	4.27	D
				Hin	ndi - I	Econo	omics - I	His	story	Skills in	unication n English	Hi (Comp	ndi oulsory)	Foun Course	dation in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
10	0	EX-71010	DIWAKAR ANIKET PRAMOD PRIYA		\$40		24		0	\$18	\$34		\$62	\$18	34		52	9		F

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Mara	athi - I	Econo	mics - I	His	story	Skills ir	unication English		rathi oulsory)	1	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	1				
11	0	EX-71011	/ DUBALA PRAJAKTA VILAS BEBI		\$40		\$46		\$43	\$18	35		\$42	\$16	\$32		69	15	4.60	D
				Ru Develop	ural oment - I	Mara	athi - I	Econo	mics - I	Skills ir	unication English		rathi oulsory)	1	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	İ				
12	0	EX-71012	DUBLA KARAN SUNIL VASANTI		\$44		\$40		21	\$16	32		40	\$18	\$30		52	12		F
				Comm	erce - I	Hin	di - I	His	story	Skills ir	unication English		indi oulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
13	0	EX-71013	/ GHARAT AMISHA BHAU VIJAYA		43		\$48		\$40	AB	32		\$43	\$10	\$37		57	13		F
				Hin	di - I	Econo	mics - I	His	story	Skills ir	unication English		indi oulsory)	Foun Course	dation in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	1				
14	0	EX-71014	/ GHATAL POOJA YASHWANT SANJU		AB		AB		AB	\$18	AB		AB	\$15	AB		0			F
				Mara	athi - I	Econo	mics - I	His	story	Skills ir	unication English	(Comp	rathi oulsory)	Cou	dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
15	0	EX-71015	GUHE SAGAR DAMODAR MANDA		40		44		40	\$16	32		40	\$16	38		66	15	4.40	D

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Hino	di - I	Econo	mics - I	His	tory	Skills ir	unication English		lindi pulsory)	Foun Course	dation in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
16	0	EX-71016	/ HARIJAN SARITA SURENDRA GUDDI		\$76		\$41		\$65	19	\$52		\$82	12	\$41		113	15	7.53	B+
				Mara	thi - I	Econo	omics - I	His	tory	Skills ir	unication English		arathi pulsory)	1	idation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
17	0	EX-71017	INGLE AKASH PRAVIN MAINA		\$40		40		40	\$17	16		42	\$17	\$32		54	13		F
				Hind	di - I	Econo	omics - I	His	tory	Skills in	unication English		lindi pulsory)		idation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
18	0	EX-71018	JIMBHAL VIKAS DINKAR REKHA		\$40		25		\$40	\$18	32		\$40	\$16	\$30		54	12		F
				Comm	erce - I		ural pment - I	Hino	di - I	Skills in	unication English		lindi pulsory)		idation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
19	0	EX-71019	KADAM DHRUV DEVENDRA SAMIDHA		4		4		1	AB	7		18	10	10		0			F
				Mara	ithi - I	Econo	mics - I	His	tory	Skills in	unication English		arathi pulsory)	Foun Course	idation in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
20	0	EX-71020	KADAM SAGAR RAJENDRA YASHODA		\$40		3		6	AB	13		12	\$20	21		12	3		F

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Comm	nerce - I	Hin	di - I	His	story		inication English	Hi (Comp	-	Foun Course	dation in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
21	0	EX-71021	KADU BHAGIRATH KAMALAKAR KALAWATI		6		8		5	AB	10		19	\$20	14		0			F
				Comm	nerce - I	1	ural pment - I	Hin	di - I	Skills in	inication English	Hi (Comp	-		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
22	0	EX-71022	/ KADU VEDANTI PRAMOD SUJATA		40		\$40		15	\$15	\$32		\$40	\$20	\$32		54	12		F
				Hin	ndi - I	Econo	mics - I	His	story	Skills in	Inication English	Hii (Comp			dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
23	0	EX-71023	/ MEHER NATASHA SANDIP MANISHA		\$70		28		\$58	\$15	\$59		\$52	\$18	\$47		94	12		F
				Comm	nerce - I	Hin	di - I	His	story	Skills in	Inication English	Hii (Comp	-	Foun Course	dation in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
24	0	EX-71024	/ MEHER TANVI RAKESH SMITA		\$40		5		\$40	\$16	\$32		\$40	\$22	20		42	10		F
				Comm	nerce - I	1	ural pment - I	Mara	athi - I	Skills in	inication English	Mai (Comp	rathi ulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
25	0	EX-71025	/ MORE SAYALI RAJESH MANISHA		\$40		\$53		\$43	\$18	0		\$40	\$19	\$35		62	13		F
26	0	EX-71026	/ NAIK PRIYA RAJENDRA RESHMA		\$40		\$40		\$50	\$18	23		\$40	\$17	\$35	21.60	62	13	_	F

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Ru Develop		Mara	athi - I	Econor	nics - I	Skills ir	unication English	l	rathi oulsory)	l	ndation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	1				
27	0	EX-71027	/ PAGDHARE ASMITA MANOJ SHITAL		\$40		\$52		27	\$8	\$32		\$50	\$17	\$39		64	12		F
				Ru Develop		Hin	di - I	Econor	nics - I	Skills ir	unication English	l	indi oulsory)	l	in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	İ				
28	0	EX-71028	/ PARDHI VISHAKHA VILAS VIMAL		\$40		40		20	\$19	23		40	10	16		32	8		F
				Comm	erce - I	l '	ural pment - I	Hino	- I	Skills ir	unication English	l	indi oulsory)	''	ndation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
29	0	EX-71029	PARHAD ROHIT RAMESH LALITA		\$40		\$40		40	\$17	5		40	\$20	30		56	13		F
				Ru Develop		Mara	athi - I	Econor	mics - I	Skills ir	unication English	l '	rathi oulsory)	''	ndation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	1				
30	0	EX-71030	/ PATIL ISHITA BHANUDAS MANISHA		\$40		\$40		17	\$19	32		17	\$19	30		46	10		F
				Comm	erce - I	Mara	athi - I	Hist	tory	Skills ir	unication English	l '	rathi oulsory)	''	ndation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
31	0	EX-71031	PAWAR KIRAN VIJAY MALTI		\$40		\$40		\$50	17	\$41		\$40	\$10	\$33	PLSW	72	15	4.80	D

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Hin	di - I	Econo	mics - I	Hist	tory	Skills in	unication English		indi oulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
32	0	EX-71032	PILENA VIJAY RAMAN CHAMPI		40		22		14	\$18	16		\$40	\$17	30		30	7		F
				Comm	ierce - I	l '	ural oment - I	Mara	thi - I	Skills in	unication English	Ma (Comp	rathi oulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
33	0	EX-71033	/ RAUT BHARGAVI ULHAS DEEPA		\$50		\$55		\$72	18	\$42		\$44	\$19	\$54		108	15	7.20	B+
				Ru Develop	ural oment - I	Mara	athi - I	Econor	nics - I	Skills in	unication English		rathi oulsory)	1	dation in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
34	0	EX-71034	/ RAVATE HAUSA SHINVAR VASANTI		\$40		40		42	\$16	\$32		40	\$18	18		54	13		F
				Comm	ierce - I	Mara	athi - I	Hist	tory	Skills in	unication n English	Ma (Comp	rathi oulsory)		idation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
35	0	EX-71035	/ SHINDE ANAMIKA LAXMAN SHEETAL		\$40		\$45		40	\$18	\$32		\$40	\$15	\$32		69	15	4.60	D
				Hin	di - I	Econo	mics - I	Hist	tory	Skills in	unication English		indi oulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
36	0	EX-71036	SUTAR NITIN VASANT LADAKI		20		17		\$40	16	14		\$40	10	\$30	2100	28	7		F

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Mara	athi - I	Econo	omics - I	His	tory	Skills in	inication English		rathi oulsory)	''	dation rse - I					
				0/0	40/10	0 0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	1				
37	0	EX-71037	/ TAMORE SHRUTI PRAMOD SHITAL		\$43		25		\$40	\$16	\$32		\$40	\$16	\$30		52	12		F
				Comm	nerce - I	1	ural pment - I	Hino	di - I	Skills in	inication English		indi pulsory)	''	idation rse - I					
				0/0	40/10	0 0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	1				
38	0	EX-71038	/ THAKUR MANSAVI PRABHAKAR PRATIKSHA		\$40		\$48		\$48	\$16	13		\$40	\$20	\$30		62	13		F
				Mara	athi - I	Econo	omics - I	His	tory	Skills in	inication English		rathi oulsory)	''	dation rse - I					
				0/0	40/10	0 0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
39	0	EX-71039	VANNE ASHISH JITENDRA SANGITA		\$48		26		\$42	\$13	\$53		\$42	\$17	\$41		65	12		F
				Comm	nerce - I	Hir	ndi - I	His	tory	Skills in	inication English		indi pulsory)	''	dation rse - I					
				0/0	40/10	0 0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	†				
40	0	EX-71040	VARANGADE SANJAY RAGHU VANDANA		\$40		\$40		\$42	\$18	32		\$40	\$17	\$30		66	15	4.40	D
				Comm	nerce - I	Mar	athi - I	His	tory	Skills in	inication English		rathi oulsory)	''	dation rse - I					
				0/0	40/10	0 0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
41	0	EX-71041	/ VAZE SIMARAN PRASHANT GEETANJALI		\$40		\$41		\$40	\$17	32		\$40	\$16	31		64	15	4.27	D

Shri. Purshottamdas Laldas Shroff College of Arts and Commerce

Permanently Affiliated to University of Mumbai

At. Post Chinchani, Tal. Dahanu, Dist.- Palghar, Pin 401 503, Chinchani

Result Register (A.T.K.T. Exam.)

Repeater

SEMESTER: I

PROGRAMME: Bachelor of Arts EXAMINATION: March - 2023

Sr. No.	Roll No.	Seat No.	Name	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	Total Marks	Sum CG	Credits Earned	SGPA	Grade
				Mara	athi - I	Econo	mics - I	His	story	Skills in	unication English		rathi oulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
42	0	EX-71042	/ VINDE UNNATI MANOHAR SUSHMA		\$40		40		9	\$18	32		40	\$17	30		54	12		F
				Comm	erce - I	Mara	athi - I	His	story	Skills in	unication English		rathi oulsory)	Foun Course	dation in NCC I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75	-				
43	0	EX-71043	YADAV BADAL CHOTELAL SITA		0		\$40		0	AB	17		0	\$18	1		12	3		F
				Rı Develop	ural oment - I	Hin	di - I	Econo	mics - I	Skills in	unication English		indi oulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
44	0	EX-71044	YADAV MANISH SUKAI SAROJ		40		22		7	\$18	16		43	10	21		20	5		F
				Comm	erce - I	Hin	di - I	His	story	Skills in	unication English		indi oulsory)		dation rse - I					
				0/0	40/100	0/0	40/100	0/0	40/100	8/20	32/80	0/0	40/100	10/25	30/75					
45	0	EX-71045	BARAD KISHOR BALYA GULAB		\$50		\$60		\$60	\$10	\$40		13	\$20	\$32		90	13		F

Prepared by

Checked by

In-Charge
Examination

P. L. Shroff College of Arts & Commerce
Chinchani, Dist. Thane.

P.L.SHOOL P.C. SY 33

Principa!
P. L. Shroff College
Chinchani, Tai. Dahanu,
Dist. Palghar, Pin-401 503,